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General Instructions :
The question paper comprises of two sections, A and B. You are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.

Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. During
this interval you are not to write any thing on the answer book.
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11.
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15.

16.

17.

SECTION - A
Give the formula for calculating work done. What is the SI unit of work ?
Define 1 watt of power.
Which gas is the major component of the atmosphere of Venus and Mars ?
In which part of legumes nitrogen fixing bacteria are present ?
Give two applications of ultrasound.
What happens when :
(a) Buoyant Force exerted by the fluid is less than the weight of the body ?

(b) Buoyant Force exerted by the fluid is equal to the weight of the body ?

What is Relative Density ? The relative density of a substance is greater than 1, what
does it signify ?

(a) How the presence of pollutants present in the air does affect our health ?

(b) Name two air pollutants which when dissolve with water gives rise to acid
rain.

Give the chemical formula of ozone. What is its role in atmosphere ?

Describe Bohr’s model of an atom.

Mention the 2 postulates of Dalton’s Atomic Theory that explain :

(a) Law of Conservation of Mass

(b) Law of Constant Proportions.

What is binomial nomenclature ? Who introduced it ?

(a) What are the two adaptive features of birds ?
(b) What is the scientific name of ostrich ?

(a) Ilustrate the use of Stethoscope.
(b) What are Infrasonic and Ultrasonic sound waves ?

(a) Define Power. Give its SI unit.
(b) Taking the example of a simple pendulum, explain the variations in the forms of
energy and the interconversions involved.

Explain the working of human ear.
(a) Define the atomic mass unit.
(b)  Write the chemical formulae of :

(i) Ammonium Carbonate (i) Sodium Oxide
(c) Name the compound Al,(SO,); and mention the ions present in it.
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18.

19.

20.

21.

22.

23.

24.

25.

(a) What is the mass of 0.5 mole of NH; ? Given Atomic mass of N =14u, Atomic
mass of (H)=1u.

(b) Calculate the number of particles in 31 g of P, molecules. Atomic mass of
P=31 u.

(c) Find the number of moles in 87 g of K,S50O,.
Atomic massesof — K =39u,S =32u,O = 16u

(a) How does antibiotic penicillin work against bacterial infection ?
(b) Name one bacterial disease that spreads through contaminated water ?

(a) Write few common signs and symptoms of a disease if brain is affected.
(b) Give one local and one general effect of inflammation process.

(a) Which part of the body is infected by malaria causing microbe ?
(b) What are the two ways to treat an infectious disease ?

(a) Draw a well labeled diagram of Euglena.
(b) Name the kingdom to which it belongs.

(a) A body of mass 15 kg possesses kinetic energy of 18.75 kJ. Find the velocity.
(b)  An electric bulb of 100 W is used for 4 hrs a day. Calculate the energy consumed
by it in a day in Joules and kilowatt hour unit.
OR

An object of mass 10 kg is made to fall freely from a height of 10 m. Complete the
table :

Height of object PE KE Mechanical Energy
(m) ) ) )
10
8
5
Just above ground

Hence state the law of conservation of energy

(a) Give Bohr - Bury rules for distribution of electrons in different shells (any 2).
(b) For chlorine, Z = 17, A = 35. Give the number of protons, electrons and neutrons
in (i) Chlorine (ii) Chloride ion.
OR
Explain the Rutherford’s model of an atom. Mention the observations, conclusions
and drawbacks (with diagram).

(a) Give a diagrammatic representation of Carbon cycle in nature.
(b)  What are green house gases ? What happens when percentage of these gases
increase in atmosphere ?
OR
(a) Depict the oxygen cycle.

(b) Mention the three processes in which oxygen is used up from the atmosphere
and the only process in which it is returned to the atmosphere.
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26.

27.

28.

29.

SECTION - B
A given solid is weighed in air using a spring balance. It is then weighed by immersing 1
it fully, in each of the three vessels containing water, as shown. Its weight when
immersed, will be

L e T P AL IO

[A] [C]
(a) leastin vessel C (b) leastin vessel B
(c) leastin vessel A (d) equal in all the three vessels
The loss in weight of a solid is more in salty solution than water because : 1
(a) Density of water and salty solution is same
(b) Density of water is less than salty solution
(c) Density of water is more than salty solution
(d) Densities can’t be compared.

While comparing the pressure exerted by the three different faces of a metal cuboid of 1
dimensions 10 X 20 X 30 cm, which observation is correct ?

(a) Pressure exerted by all faces is same

(b) Pressure exerted by the face 10 X 20 is maximum

(c) Pressure exerted by the face 10 X 30 is maximum

(d) Pressure exerted by the face 30 X 20 is maximum

The readings of the spring balance will be 1

(a) equal to each other in all cases A, B and C.
(b) equal to each other in cases A and C only.
(c) equal to each other in cases B and C only.

(d) different in every case.
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31.
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35.

36.

While studying the laws of reflection of sound, the student couldn’t hear the
reflected sound of the clock when one of the pipes is raised vertically up. Which law is
violated ?

(a) Angles of incidence and reflection are equal

(b) Incident ray, normal and reflected ray lie in the same plane
(c) Both of these

(d) None of these

While studying the reflection of sound 3 students used different reflecting surfaces.
The best result would be obtained by the student using the reflecting surface.

(a) a thermocoal sheet (b) a polished, plane metal sheet

() arough card board sheet (d) a cushioned chair

A spring balance gives :
(a) Mass of the body (b) Weight of the body
(c) Both (a) and (b) (d) Thevalueof g

Before suspending a stone of mass 100 g, the spring balance showed a reading of 2g.
What will be the reading after the stone is suspended ?

(@ 9Bg (b) 99¢g () 100 g (d) 102 g

Which type of pulse is generated on the slinky in the experiment while determining the
velocity of propagation of pulse ?

(a) Longitudinal wave
(b) Transverse wave
(c) Both of these

(d) None of these

The distance between initial and final positions of the pulse generated in a slinky is 3 m
and the velocity is 3.6 m/s. Find the time taken.

(a) 1.20s (b) 0.83s (c) 108s (d) 1.60 s

Ravi has observed rhizome and circinnate leaves in the given specimen. Which specimen
he has observed ?

(a) Fern (b) Funaria (c) Spirogyra (d) Mushroom
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37.

38.

39.

40.

41.

A student observed a prominent band on 14, 15 and 16 segment of earthworm. What

is it known as ?

(a) Peristomium (b) Prostomium (c) Clitellum (d) Mouth

Pneumatic bones are the adaptive features of which phylum ?
(a) Osteichthyes (b) Chondrichthyes (c) Aves (d) Reptilia

Jointed appendages and chitinous skeleton are the characteristic features of

(a) Arthropods (b) Annelida () Chordate (d) Echinoderm

Shyam has observed following parts in the given slide :

(1) Pyrenoids

(2) Ribbon like chloroplast

(3) Filamentous structure

Which organism has he observed ?

(a) Spirogyra (b) Moss (c) Fern (d) Pinus

An angiosperm plant is characterized by :

(a) Presence of flower (b) Seeds enclosed in fruit
(c) Fibrous/tap root system (d) All of the above
-00o0-
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10.

11.

12.

13.

14.

QUg-3
foru T v Y O A % fore g3 fafew ) wr s S e @ g 2
1 91 wfe ohl IR i)

5 TE WA o agHved H il T st A H et § 2

TeAGR Wl (legumes)  fRE 91T & Ao Reriehm (fixing) SATY] 9™ ST € 2
g A ok g1 SuAnt fafea |

wé?n%,aar%:
(a) Tt TRet Tered ERT oI wieH Wl 9 o YR ¥ Y a1 § 2
(b) et TRet Tered ERT TN T e St o] o YR o SRR B § 2

Tiey e o BT & 2 Topdt wered ot Wrdet S 19 WSl & 1 S o1 e § 2

(a) g ¥ Iufeerd Yguh fohd YR TR TR i YHIId L & 2
(b) TH < AP USRI h AW FART S AT H oA TR TAE T HT FHROT I § 2

IS <1 TETEfTe g fafae | aHves o sHet o i 2
S o RV HiSe hi SRS Shifad |

leed o 1] G ol 39 &1 sTaurnsti sl fafee i o :
(a) TAHH H&U % frEH, qen
(b) R 19U & fram = =wen & |

feuca Amentor = B § 2 I8 TR arey fomam en ?

(a) ferdl % < STkl T 1§ ?
(b)  SATRZ 1 ATk T8 Q2

(a) YRR o STAN S GHART |
(b)  3TAFST T TFSA taf TG 1 Bt & 2
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15.

16.

17.

18.

19.

20.

21.

22,

23.

(a)  wIfeRd ki IR SISTT | SERT ST AT SA1ET | 3
(b) HHI cTeh I IQMELT Ik ol o ®UI H TAfar qen s&8 Fafyd qReaie el

T Shi SHTEAT hifSIT |
T % M % 1 B I YU HI S BT 3
(a) ORHIY] GHHM TohTs ohi IR ST 3
(b) () STHIEH FEHS qo

(i) Hfeam sTerEE % THEfS g3 fafae

(€)  AlySO,), Fifiter =i 7 fafay qen sad Sufeerd sl 1 fafey |

() NH, % 0.5 & §29H fha &2 fn /e, Nl T s A = 14u I HF - 3
MM 99H71 =1u

(b) P, 3 % 31 g H UL HUN <l HE&A A HIS | P 1 TWHY FHM =31 u.

(c) K,SO,h 87 g ¥ Suferd Hietl sht WA Ad shifoy | K =T ITHIY] E=5HM =39 u, S=32 u,
AT O T WA TFAF = 16 u |

(a)  SHaTY] ST HoRavr & faeg fasifass dfaei fha YR &l st § 2 3
(b) T Sta & e aret Sitary] Sifa fRet T I a1 A fafau

(a) sk B TRIST 3T % HROT U1 B aret fohd! Weh AT o o FH Gehall U8 @i&loii bl 3

fefaT |
(b)  INe Ufeha o1 Tk T SR Teh WH JTe st |

(a) HARET U1 T ATl YaT Sd & YRR HI hiF G 9HT HohfHd 81 € 2 3
(b)  HShTH AT h1 Wl LA o T fR=l <1 ST hl T

(a) I o1 U e AHifend s S 3
(b) =& 59 S (kingdom) ¥ I TrIf=a & SHeh1 M fafaw |

(a) 15 kg i Tk g i 7St So1t 18.75 k] ¥ 1 SHHT AT F1d Hiforw | 5
(b) 100 W o1 Ueh farefd siel Ufdfe 4 50 SUERT & @& ST €1 39 gR1 W& fod H swmre
i T8 STl < TUMT S[a 1 fohefee 51uet gerts | shifSu |
SO E
10 kg SEHM i ek %] 1 10 m ! S8 & Tq=a1 e FTRm@n Sar €1 Ft aiferert 1 g
FHITST
g H soE  |fefisst|  wfes st ElECESTE ]
(m) 1) 1) 1)
10
8
5

JeaTad | 3 W
T Sl G0 o fem o fafan
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24.

25.

26.

27.

28.

(a) Tafvm wensti # sciagml o oo o foae sR-s’ fradi =01 fafae (1 +ff ) 5
(b) FARHA & fACZ = 17, A = 35 BT T
() FARE I (i) FARTEES A H UM, TARH o =Ml i HE&A S|
3IUAT
IR o T Higd i ARA HifeC | Yegoli, fshet aen st o1 foot gfed fafaw

(a) UHfd B we-<oh o1 X@ifehd foa yefdia ifsra 5
(b) T TRE 9 F A Tl € 2 Al AgHYSA H 3 Tl i Yiawin 9¢ S a1 &1 2T 2
sreraT
(a) TH(d H TS =k 1 AHIRd o SR
(b) 9 T URRATC ST fSH SIS o1 SUANT BiaT © de Tk U gfshan 599 & g1

SRS argHvEd § olfedt § |

Lus-d
2T 7T T S B FHFIIR Jel H e § ga § Al S ¥ 1 369 o 39 A9 w1
I | W I o H I T8 TR drell Sl § | ST 39 GalrdT Sl 8, dl S YR ¢

(a) 9 CH Tad HH T (b) I BH W™ HH M
(c) odd A H Hed &9 g (d) = H 9HE g
ST Y STURT AU =il H fopddt S| % R | it 21fyes It €, it 1

(a) ST 9 A St S THM S B |

(b) STel 1 T AU Het F T W HH B ¥
(c) STcT <l SFcd 9N Siel o T 9 31fYeh 8 7
(d) =T Y A & hI ST HRHl B |

10 X 20 x 30 cm fomsi Al Gret ==Y & 99 fafys gef g1 e e Sei & e e 1
TR 1A | YT FE BT 2

(a) |t YIS GRT THIET 741 S16 SRR BT

(b) 10 x 20 STt I8 G I T STl (el ™ BT |
(©) 10 x 30 It TS G A T G160 HA{oehad BT |
(d) 30 x 20 9l J83 GRI ST A1 S SAfereherd B |
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30.

31.

32.

33.

(a) A, BA CE i § F9H B
)

(b) HaA A A C H FHHE BT
(c) Had B CH HHAM M
(d) TR H ST-3TerT

s a1 T R 99T o9 U URY SHHEieR Tel 7 a9 fomnedt ut @t
TREfdd €At TS G I § 1 i | o 1 Seess el gem 2

(a) ST 9 TEfd HIv SRR ¥ |

(b)  3THafda feor, stfyera 9 wrafda fo ww & 7a § 2t §)
(c) ST Ml

(d) RrE ot T |

ST USRI Rl AT Hid 99, 3 faenfofai | o1emT-e1er Wiedes dall o1 SWHTe fohan |
frafafea § 9 wAE WeRs a0 KA hid are foenedt & afiom o9 3= 8 ?

(a) MRl TA (b) TIfeTR T T8 THA Hifaeh T
() TN W GEH T/ (d) TIeERR FHE
FHHFIER Tl | I Bl © :

(a) o P THAE (b) o H UR

(c) W (a) T (b) T d) g HA

el HATIGR Tl o T 100 g THHM 1 TR TR § Tgel SHH TSk 2 g A1 T
TECHM & 91Q SHHT UISFih BT
(@ 98g by 99g (c) 100 g (d 102 g
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34.

35.

36.

37.

38.

el Ta7e % el ST AT J1d T o T foRT ST ol 93 o, fecten! § frd R & o< Ua
TS

(a) orgeed WA (b) 3T T

(c) SWiEd <l (d) e off T

el fciat o S T o URfe T sifow feafedlil & o= it g8 3 m ® de1 39e o9
3.6m/s T TI< R foram T 99 B

(a) 1.20s (b) 0.83s (c) 108s (d) 1.60s

A 7 feu T T § g (VeSiH) 9 efad (hfEe) afadi 1 damn fran 1 38 fve T
T YeToT fohan ?

(a) T (b) AR (c) ETERTET (d) HUEH

T BE A g & 14, 15 916 9 foed W fafvre et (9it) 1 @11 6! =01 Hgd © 7

(b) U=IHEH
d) T&@

=qafes M 1 B fohd TR 1 STIHe T T
(a) STRREIES (Osteichthyes) (b) HIfGEAES (Chondrichthyes)
(c) T (d) YeEe (wgy)
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39. gE TUSSH a1 higeH shehlel ek 2ifietmatfors o7 € 2 1

(a) sTmeTdrer (b) THIfTET (c) e (d) TfRreH

40. q T TH wiee H v A frAfafed am @ 1
1) TS,
(2) Id i TE FANIE T4l
(3) A HT
I = W@ ?
(a) TR (b) HE (c) (d) dUETE

41. TfSEreTd 9 1 AL B 7 ) 1
(a) ol ot Iuferfa (b) RS ok T ST BT
(c) TIHI HHeT TSa= (d) SR gt
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